EA=100Gib

HEBERAFRA: M 2 £ 1 ABHS

HARHE (FA) XEEEF S
HEX 1 ADCERE = -
(5 BIZ4+) (Imizft)
946.0000 FJ (FiA) 378.5650 9 (FziA)
A om ~80mET
860.0000 F (Fitk) 344.1500 M (Fitk)
1,199.0000 M (F73A) 346.9400 4 (FziA)
B 81m ~300m E£T
1,090.0000 M (Fiik) 315.4000 M (Fitk)
2,206.4790 M (F73A) 313.3570 M (FiiA)
C 301 m ~
2,005.8900 M (F73k) 284.8700 M (Fitk)

KIEEMTEMCTRHBHE(BARB)NEFTATVES,
T 2 £ 1 AORBHE : —89.87 M (Fitk)

OHAMENHE
(5] 17ADERAZ 10 mMOHE--HekD B 28H

Bin#E = HER B OEANE + (CHEAEM)x B RREMSHME) GARBDERO
= 1090Mm+ (150 m x 31540 M)

= 5,821 H
HEREF = RlldE x HERE CRRBYHET)
EEEL]

5821 F x 10 %
= 582 M

AZHE = BIRHE + HERFHEYE GAREIEO
= 581M+ 582 M

= 6,403 M| — ZiEK%E




